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Answers to Transformation Test Review (ID: 1)
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7) 6{-3.0), s'(71,72), u(0,-1), 2(-2.4) ! 8) H{(-3,-2),41(-3,-3), (-5, 13),1e(4, -2)
9) 710.-3), F(-1,0), c(1,-1)  10) RT3, 1), N(-1,3). F(-2,5). H(2,4)

11) D(-2,-2), K(-3,-4). R1(2, -4) 12) 7(-5.5), P(~4,2). w(-5.0)
13) translation: 2 units right and 6 units down 14) translation: 5 units up

15) reflection across the y-axis ~ 16) reflection across the x-axis

17) rotation 90° counterclockwise about the 18) rotation 180° about the origin

origin
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Transformation Test Review Date

Graph the image of the figure using the transformation given.
1) reflection across the y-axis 2) translation: (x, y) — (x +4, y +1)

Ar

[S)

3) rotation 180° about the origin 4) rotation 90° counterclockwise about the
origin
c Ay

Period,
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5) reflection across the x-axis 6) rotation 90° clockwise about the origin
Ay Ay
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Find the coordinates of the vertices of each figure after the given transformation.

7) reflection across the x-axis 8) rotation 180° about the origin
2(-2.-4), 6(=3,0), S(-1. 2), U0, 1) H(3.2). 4(3,3), 5,3). R(4.2)

9) translation: (2. 0) 10) rotation 90° counterclockwise about the
n2,-3), /(1,0), €(3,-1) oren

R(l -3), M3, 1), 75, 2), (4, -2)

11) reflection across the y-axis 12) rotation 90° clockwise about the origin

R(-2.-4),D(2,-2), K(3,-4) 1(-5,-5). P(-2,-4), {0, -3)
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‘Write a rule to describe each transformation.

13) &(-5,3), (-4, 4), R(-3.2) 14) R(-4,-5), &(-4,-3), M0, -3)
K(-3,-3), Et?—z, -2),R(-1,-4) R(-4,0), K’EE4 2),7(0,2)

15) G(-5, 1), 5(-5, 4). H(-3, 4), (-2, 3) 16) M0, -3), 40, 2), 53, -1)
5(5.4), H(3t04), 1(2,3),6(5,1) M0, -2), s(tg 1), 5(0.3)

17) 6(-5,1). Y( 3,3), B(-2.-1) 18) 0, 3), 00, 4), m(3,4), B(2. 1)

G(-1,-3), Y{ 3,-3),B(1,-2) c(o. 73),9%?), —4), w(-3,-4), B(-2,-1)
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'AABC has vertices A(0, —1), B(3, 4), and
(3, 1). Rotate AABC 180° about the origin
and then reflect it across the x-axis.
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1. Under a dilation. triangle 4(0.0). B(0.4). C(6.0) becomes
triangle 4/(0.0), B(0.10), C(15.0). What is the scale factor
for this dilation? Choose one:
2

25
4

Under a dilation of scale
factor 3 with the center at the
origin, what will be the
coordinates of the image of
point B?

Choose one:
(63)
(2.9)
(5.6)
(69)





